
Øêîëà 1543 10-Â êëàññ 4 ìàÿ 2023 ã.

Ëîãàðèôìè÷åñêèå óðàâíåíèÿ
84. Ðåøèòå óðàâíåíèå:

à) log3(x
2 + 3x− 5) = log3(3x− 1) + 1; á) logx(x

2 + 2x− 2) = 3; â) 2log2(x
2−2x−1) + x = 2.

85. Ðåøèòå óðàâíåíèå:

â) log2 x + log2(4x− x2 − 1) = 1; ã) 3 lg x2 − lg2(−x) = 9; å) log6(x− 9)2 − 2 = 2 log6(x− 2).
86. Ðåøèòå óðàâíåíèå:

à) log2 x + log3 x = 1; ä) log2
5 x + log5x

5

x
= 1;

á) log4x+1 7 + log9x 7 = 0; å) log4 x + logx 2− log4

√
x = 1;

â) 2log5 x + 3xlog5 2 = 8; æ) 1 + logx−2(4x− 11) = 2 log4x−11(4x
2 − 19x + 22);

ã) log2(x + 4) = log4x+16 8; ç) log2+
√

5(x
2 + x− 1) = log√5−2(x + 3).

87. Ðåøèòå óðàâíåíèå ñ ïîìîùüþ ëîãàðèôìèðîâàíèÿ: à) x2 lg2 x = 10x3; á) xlog2
x
98 · 14log2 7 = 1.

88. Ðåøèòå óðàâíåíèå, èñïîëüçóÿ ñâîéñòâà ôóíêöèé:

à) x + log3 x = 4; â) log2(x
2 + 4)− log2 x = 4x− x2 − 2;

á) log5(x
4 + 5) + log5(x

2 + 25) =
3

2
; ã)

√
log0,04 x + 1 +

√
log0,2 x + 3 = 1.

Äîìàøíåå çàäàíèå
89. Ðåøèòå óðàâíåíèå:

à) log5(x
2 − 11x− 43) = 2; ä) logx2+6x+8(log2x2+2x+3(x

2 − 2x)) = 0;

á) lg(2x− 5)2 = 0; å)
1

5 − 4 lg x
+

4

1 + lg x
= 3;

â) log3(x
2 − 3x− 5) = log3(7− 2x); æ) log5

(
x − 9

x − 5

)
+ log5(x

2 − 17x + 60) = 1 + log5 2;

ã) lg
√
x− 5 + lg

√
2x− 3 + 1 = lg 30; ç) 2 lg

(
x +

1

2

)
− lg(x− 1) = lg

(
x +

5

2

)
+ lg 2.

90. Ðåøèòå óðàâíåíèå:

à) 1 + log6
x + 3

x + 7
=

1

4
log√6(x− 1)2; å)

1

4
· x

1
2
log2 x = 2

1
4
log2

2 x;

á)

√
logx

√
5x · log5 x = 1; æ) 3log2

3 x + xlog3 x = 18;

â) 3 logx 4 + 2 log4x 4 + 3 log16x 4 = 0; ç) (8x)log2 x−3 = 32
√
x;

ã) logx
9
x2 + 5 log9x x3 − 12 log3x

√
x = 0; è) log3 x

3 = 15− x;

ä) log2 log3(x
2 − 16) = log 1

2
log 1

3

(
1

x2 − 16

)
; ê) 2x2 + log2(7 + 2x− x2) = 4 + x4.
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